Math 392 Quiz 8B
April 24,2018

Namé: A NS \/\J(’: Q-.S

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.

7 2 3
1. Forthe matrix 4 = [a;;] = <5 0 —1>, whatis az, = 7 ?
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2. letA= (3 0 1), B = —31 i ; LI = (1 0 )and D = (0 0 1). Compute the following, or
write “DNE”, for “does not exist”.
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(c) BA = DN ¢ (d)A—3D = K3 o -2

3. Suppose A and C above were multiplied to find CA. Write the size of the result, or “DNE” if they actually

cannot be multiplied: 2x3

4, List the square matrices in problem 2. B/ C/
x+2y—z = -2

5. Solve the system x 4+2z = 2 bydoing the following:
2x—4y+z = 7

(a) Write down the augmented matrix for the system:
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(b) Find the reduced row-echelon form of the augmented matrix:
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(c) Write down the solution as a column vector: (y) = {

A
& 2
L 1 1 0
Bonus: (a) f A= (2 P findat= 2\l Z) (miB= (o - 2>, find detB = __ <

2 1 0



